Приложение 1

                            Карточка 1 – жёлтого цвета

	Карточка 1.
100 – 24 + 32 = 
90 + 10 – 27 =
45 : 9 • 8 = 
36 • 2 : 9 = 
48 : 6 • 7 = 



                     Карточка 2 – зелёного цвета

	Карточка 2.
600 – 60 : 6 • 5 =
200 – 80 : 4 • 5 + 35 =
30 : 5 + 40 • 2 – 15 =
320 + 40 : 8 • 10 – 150 =
36 + 36 : 3 • 4 =



                      Карточка 3 – синего цвета

	Карточка 3.
(460 + 40) • 2 – 250 = 
1000 – (470 – 70) • 2 + 20 =
360 : (120 + 240) • 4 +16 =
600 + 180 : (6 + 4) • 2 =
(380 – 80 • 3) + (240 + 20 : 4) =



